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Time : 3 Hours B3\ Marks : 160
Instructions :

1. Each question carries one mark.
158 SHB wE Swoy Sok.

2. . Choose correct answer to the following questions and darken, with HB pencil, the
corresponding digit 1, 2, 3 or 4 in the circle pertaining to the question number
concerned in the OMR Answer Sheet, separately supplied to you.

BHS sind (B8 \BHH SOohS SSreessvd 8RS AR Erdod wud
'1,2,388 4 3%H0c glnS OMR SSrerd SESnE® (& SowododS aﬁopgﬁa
2855 HB 2ade® Sorr SabsB.

BOTANY
j I8 A teacher was explaining about a constant physical contact involving almost
equal physiological interdependence in two different thalloid forms. He was trying
to explain one of the following :
(1)  Mycorrhizal association
(2)  Establishment of heterothallism
(3) Operation of heterothallism
\}f)/ Advent of Lichen formation
B8y FT8E FRsgE Hbak Barsfor o SErS ST B@oEERTS
Both By ofb BP0 Hrby of adgrgand DF0oW HoBH. @b
T 8ob 6T TN DSBod HabByohhond
(1) 2oy awre SHeardo
(2) SsBormes %8 OSKHwe
(8) Ostorrieh $8 Gwgy BateEss
g850 sdopFo

Rough Work
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2. In Duranta the nature of vasculated defensive structures represent the

modification of : |

Axillary bud as in Bougainvillea

(2) © Terminal bud as in Carissa

(3) Stipules as in Acacia

(4)  Apical bud as in Artabotrys

ci:go?oaﬁé'it’b PP Smpro dhdd J¥m Nuegmrer Sgeprd 5@"3 Ge OERS

AM 2009 A

Erodpodoren ¢

\15/015"6553§o&>e_5“’ 38 \ASH B
(2)  w6Ie” S8 5 [

B) ©Fars® IB HE Hunw

4) eSSt S8 5§ @

3.  Study the following lists :

List 1 List IT
(A) Entire leaf modified into a spine ()  Clematis
(B) Leaf except stipules modified into a tendril (IT) Citrus
(C) Stipules modified into a tendril (IIT1) Euphorbia
(D)  First leaf of axillary bud modified into a spine (IV) Lathyrus
(V)  Smilax

o 808 wrlerod wEzohde Hobed :
weleav [ wedeae I
(A) &r8 SFo SouSorr Grdrodlo Bok&os (1) SaedS
(B) EEHhuwnes DS Dher HFo HOIKe (D) @&
Srdrodfo Boli&od
(C) S| BHwsyen SHdbreorr SrarodSo T[odevon (III) A8y o
D) HeH BoHED FwdE SFo Sowsorr (IV) o058
Srodrod8o To&dod (V) Eée:uéb
The correct match is/a $06hs °80% :

A B ¢ D
\;,)/111 v v 11

(2) HI 1 IV 11

@ 1 111 I A

4 V I M I I1I
Rough Work
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4. Study the following table :
(I} Modified aerial stem Unisexual flowers Chalazal entry
develop acropetally of pollen
(II) Flowers achlamydeous Pedicels of all the Presence of false
flowers are of same whorl
length
(III) Cohesion of bracts Centrifugal opening Male flowers many
forming a cup of flowers
(IV) Flower formation on Presence of rachilla Terminal part of
one side in a spiral the peduncle is
manner flowerless

Select the correct pair of answers in which the former represents the set of
characters present in Poinsettia and the latter in the pair represents the set
of characters present in Casuarina.
808 asgsm ofgabdse Dabed :

(I) raro8bo [obS B0l HIE Sove® oeue Hoel
TSNS srado ©rDIY w38 BemHo - |$J¥o
(II)  So5SYeT= aﬁ;avae.n ©f) Hare Jyoeren w8 Soabo
ed DrEHEt @00l

@OoeToN
II) P& Hwyen JoSosdo PHanew Bo|aeSdy DHE Harpw ©I¥o
Bob Agyor Ageron Sorr AFLIEow

(V) Seyorwedad® Harpen her  dodwod 9Dy wffeigetio
aE | SHS AN Hpoeesonr
S° 00 G 0onod

8o a8 SSrerd 280, REED IsSEL Foud VBARE® o) oferod
SredoRdre, Bodsd 5“2&’2:6"55 o ofwras Sedoddane &) éﬁd}:fé B0

b opaw.

(1) II, III (2) L.1I

@ IV, I ua/m, I
Rough Work
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5. A student observed 34 inflorescences in Bougainvillea and 42 inflorescences in
Poinsettia. Find out the number of flowers in Bougainvillea and the number of
female flowers in Poinseftia respectively :
w8 Dergd E°HS DBk Ind)6° 34 Hif) drgrod, Fand vdare Bwgy S
42 mng nga‘eeﬁa ¢ SR owedss. s‘aSaawpa‘b oua“ea Somgdr,
DondD ﬁcﬁ‘.wé"&) fa Haryo ﬁoapgﬁﬁ afdactirs" M8 owod !
The correct pair is :

gd :‘.566;’»335 8d: ;
(1) 34,126  (2) 68, (3) 204, 164 w/loz, 42

6.  Assertion (A): In Syconus type of fruit, the achenes formed are fewer than
' the total number of flowers in the inflorescence from which
it is formed.
Reason (R) : Upper and middle flowers cannot develop into fruits.

The answer 18 :

\lf)/og:t‘.: (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

a3y80 (A) : REEE o0 Food® @ edSe Sowg ©6 NI HK
' DrgNod®y Do Hirje Fomy EERSP Boe0d

s¥wo (R) t DS oy HEed @wod Haren Ferennw oS0 Tosd.

The correct answer is :

B maww: '
\(B/J?A) S (R) Tode - $8GHS 8a (A) & (R) S860s ASEw
2) (A) H8as (R) Sodir csaé?»a’a =0 (A) & (R) S0 Ta80m e
(3, (A) s8cuss == (R) éaaaasa b T
(4) (A) SoGpS6 T =R (R) ST

i A There are 10 flowers in one individual plant of Crotalaria. In each
microsporangium of every stamen of all the flowers, there are 30 microspore mother
cells. How many pollen grains are formed from that plant ?

-1 l_ﬁ"’méﬁoﬁﬁ So 3 10 c‘é_)al"gmc:“&os.. a’u:‘.’goé’i@ &8 3S5eRE TodH (58
sy B8 Beeda06® 30 Srgy b8 B Sr8)¥ Eoresonon & gy Sob

S Seadmipe SEyEevon? “_
(1) 4,000 (2) 10,000 - {3) 24,000 w/ 48,000
Rough Work
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8. A perennial shrub has compound leaves and solitary zygomorphic and epigynous
flowers. Each flower reveals dichlamydeous condition with many stamens and
multiple fruit with exalbuminous seeds. What is the ratio of advanced and primitive
characters in it ?
af wdw avaa’ TS Soong Serosk Sy dsred, anga' 3“:»..:5&'5)36’ S0
wosE°5° 508 Haryesd 508 @ob. |$8 HEpo &g uﬁESLéotiné «J&SJ ooy
BSrom, SoRoNE oirE JEes® of) SodE Fored ¥OA ddeuns
30055, B0E° 3088 ToBS Sooss s ofere D)8 dod?
1 1:2 @2 2:3 11 4 3:2

AM 2009 A

9. Assertion (A) : An ascending taxonomic sequence of Gossypium herbaceum
_ indicates its placement in progressively higher groups.
Reason (R) : Ascending taxonomic hierarchy indicates that a taxon is

treated as belonging to a number of taxa.
The eorrect answer is :
Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
ShHFo (A)  : edhodo FEdHdato Bul. SBEe e Fho, = Sy
Py FHore DS :samaﬂes" aodardy Srdded.
w0 (R) @ «6°58 SBytm DrS Fove [EHo, w8 Sto, ©IF Smok
BodI&e e;ﬂ&o::‘:’a:d:é:od&) SO 08,
88 ﬂo?m‘S S S
(A) 805w (R) Bodr POERID HOa (A) B (R) Sovs RSCe
(2) (A) H8as» (R) Sodr .:saa;.sa 0 (A) 5 (R) $Bahbs Dt w0
3) (A} SBAHIE =0 (R) 55861)85& g
-4) (A 9‘55033.5& s w0 (R) S0 I8

10. A plant with actinomorphic and hypogynous flowers, heterochlamydeous perianth,
dorsifixed and extrorse anthers dehiscing transversely belongs to :
(1) oronariae (2) Bicarpellatae
®Y" Thalamiflorae (4) Calyciflorae
wl 3w @‘uéoﬁ»ﬁ S8 ®o&5fed &éﬁ QDo DYy S0 @'oﬁoéﬁa;ﬁ
SOB @R, wéon" AR eSo Fod wgm'éooﬁ:vﬂé werGisye So° o
506 @0d. ©8 B8 HowoBodIS :

1) s"g"doaw 2) Bwrod®
Ford*3 (4) 3ORRT
Rough Work
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11.  The chemical substances found most abundantly in the middle lamella is released
into the Phragmoplast by :
(1) Endoplasmic reticulum ngi complex
(3) Spindle fragments (4) Interzonal fibres
§’55 SeOEET QB ST aod TS Sowdy FAREE 678 dmde
o -
(1) ©o8bs ESgsreo (ﬁ)/n‘f) So8 o
3) Yo@ESHe Su¥yen . (4) eosEMoGe DSrhen
12,  Study the following [ists :
List I List II
(A) Initiation of spindle fibres () Anaphase-I
(B) Synthesis of RNA and Protein (II) Zygotene
(C) Action of endonuclease (III) G, phase
(D) Movement of chromatids towards opposite poles (IV) Pachytene
(V) Anapbase-II
& 808 zrberod ©Fatdo PBobod
: wedee 1 geDee I
(A) so@ B Boyde | CogEn D Sos &1
(B) RNA oo @*dde Sodds (I . 8A°ES
(@) Qo&°3e8chE mug (I Gy &%
D) ESr8ben 53888 oo IH SOohe (V) 848
V) Sl ¥l
The correct match is :
ad OGS E°Gos:
B C D
\B/I\I 111 IV '
2 11 ° II I A%
@ I I - v v
4 V I11 1 I
13.  If there are 120 adenine molecules in a B-DNA double helical structure showing
- 20 coils, what is the number of pyrimidine nucleotides forming three hydrogen
bonds in it 7
20 Z0%en 80A @od B-DNA &308 %080 doywod”® 120 ©83S empe
afyS®, E® S @3S woere8® Yogrdo Bodawod HODES
.Ssﬂgﬂrv?a_cﬁ-e: Somg Jod?
80 (2) 100 3 120 (4) 140
Rough Work
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14. From evolutionary point of view, tracheids and sieve cells are more primitive

AM 2009 A

than tracheae and sieve tubes respectively. The angiosperms have :
(1) Tracheae and sieve tubes

\2/ Tracheids, Tracheae and sieve tubes

(3) 'I&-acheée, sieve cells and sieve tubes

4) Tracheids, Tracheae and sieve cells

SoEHEH Sy B Forer N Wwodswre SN T FrEody,
wodrrolon ©8038D. efd beves DI 08 wowrow :

1)  cSHoeeren HBo wvod e
W/.aedas‘wm. CHTEe HOEH wodorwen
(8) oo wrod¥mrey BN whedeeeen

(4) oforo, CHTEEs SHB websores

15. Arrange the following in the order of their location from periphery to centre in
the entire dicotyledonous plant body :
() Fusiform cells \"_, Trichoblasts
(IIT)  Collocytes (IV) Tyloses
836 Ba Judy 08 Bwod® & Bob @A ©D 0B Feyed #86
o8 Voo FJp SNIEHaE® edgod :

I HoscodE o (% §iSmeEwes

(1) §°%6° 3, : (IV) &2l

The correct sequence is :

80 POES SHISFo:

(1) IV, 1, II, TI w/n I, 1, IV

8 HOL I I, IV (4 I, IV, I, I
Rough Work
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16. Assertion (A) : Apical and intercalary meristems contribute to the growth in
length while the lateral meristems bring increase in girth in
maize.
Reason (R) : Apical and intercalary meristems always increase the height
of plants.
The correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) ~ (A) is true, but (R) is false
(A) is false, but (R) is true A
dPBo (A) 1 RENE® o SHbak HEgs prsg Swecveres LY
$580 EDAoNe, rdx Jwrmg SwEroven SHoHos*® 63&?3
EOEd o F
®|0 oo SHEgY greg Snerores JoJPEd SnHo6®
B I Doweron
b 0GRS maren: -
(1) (A) S0 (R) Todrr S83LEQ Hdam (A) & (R) S8pS e
(2) (A) &8c» (R) Sodoe SBabda) e (A) 5% (R) BOSHY DS T
@) . (A) 506h&8 =R (R) $060IB woeh
ua/ (A) $06vE8 weh =D (R) $0a0Sa

17.  Study the following lists :

=dwo (R)

List 1 List 11
(A) Spongy aril (I)  Jussicea
(B) Multiple epidermis (II) Pistia
(C) Respiratory roots (IIT) Nerium
(D) Root pockets (IV) Sagittaria
- (V) Nymphaea
e 1808 mrlerold wiigahdo Wabod :
At U | wodae 11
(A) &Hodsod BaHsho . D adndoe
(B) wdw¥ wrdvg ﬁgo (I1) &age
(C) erabiE e 3% I S8aso
D) I efw (IV) &>&8Doawe
V) Dodage

The correct match is :
g0 0GhY & 8o:
A

B C D
1 1 I11 11 A4
2 I 1 v 111
3) ~1V II 111 |
\Y 111 1 11
Rough Work
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18. Assertion (A): True xerophytes store water in the form of mucilage which
helps to withstand prolonged period of drought.
Reason (R): Vascular and mechanical tissues are well developed in true
xerophytes.
The correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) _ (A) is true, but (R) is false
(A) is false, but (R) is true

AM 2009 A

AH¥o (A) | : JsnS P8 I er VA BH Sorl ErSes® JenSTHE°D,
&dsvaa’ BorgEd S0R&HoD ée.né'goeﬁow
sfwo (R) ::eaa:.s 2a=0 ;3»55.@6*‘ TP EoEreo S8 oSreo (8%

_ Sweroren @oOe 9&532 @od  aoeron
g8 S0GRS wmarwm:
(1) (A) S0 (R) Sodr $B3HID, Hoak (A) & (R) $86h8 dSw
(2) (A Hbat (R) Bodre HODHD =D (A) % (R) $8S ISom ==&
@) _ (A) secpxs =0 (R) m&cﬁa«ﬁ& o '
(A) éeaaasa T TR (R) SO

19. In garden pea yellow colour of cotyledons is dominant over green and round
shape of seed is dominant over wrinkled. When a plant with yellow and round
seeds is crossed with a plant having yellow and wrinkled seeds, the progeny
showed segregation for all the four characters. The probability of obtaining green
round seeds in the progeny of this cross is :

8% werdE® S Jorh DETo sHSHy dobh dE Lo D wrdE ofwo
&Batn Do Ul D So Soase Ho DESo m:mfs oft0. SH Sokk,
WDOIERN A Javes o el INEES, asmaz; soth, SnEder Ho A& S Swen
Ko 35.»9’6.8“ Bo¥bmo sHim SN So8d Forth ofarold SHEH o WD,
& $088 Bnos° wHHg Jotb, HoEd JEJSSwe o Sl e Sogrdgd

® ae/%

4

1 3

@ 15 @ |
Rough Work
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20. A homozygous sweet pea plant with blue flowers (RR) and long pollen (RgRg)
is crossed with a homozygous plant having red flowers (rr) and round pollen
(rgro)- The resultant F; hybrid is test crossed. Which of the following genotype
does not appear in its progeny ?

000 paryes (RR), FEIS HAI~HE Jeahen (RyRy) FOS ol SShouiye

8deeed SN S0P Haren (rr) Hod HI*E Sawahen (rgrg) o 5ob°Y

Shotufyesh D0H8° So¥tmo IrK. 61 ol S F; Jo8 [wgH.h

8By Bo¥Eeed8 0Tahrr STy SogAET O adgirSo wodd :
RRR,R, % RrRr, | oR 2

(3)  Rrryrg (4) rrRyrg

21. Two adjacent filaments of Spirogyra affinis each 10 cells participating in
reproduction. How many new Spirogym plants are produced during sexual
reproduction ?

S8y SHS @i Sodb 6 A «HIT éoéasﬁ;e}é"" a8 8y RE® 10 $e38 8 6°
FES Horen Kol BoAY (SEHENE s6AIHH Y §°E ETBee SwHe
Senderon? A Ah 1
M 5 ® 10 (3) 20 (4) 40

22. Arrange the following in correct sequence with reference to sexual reproduction

in Rhizopus :
(I) Formation of germ tube
(I) Formation of zygophores
(III) Formation of warty wall layer of zygospore
(IV) Secretion of trisperic acid .
SE°SE BoN5°E88 Sowododd & 808 IV BOGLE FHod® e od:
M Decy g
(ID  Sodret Dec¥ah Sjoecws S
(III) Sookes B8 Dase 8 Iddes Ko I8 Foo Do
(IV) T:L'”Zlﬁ“ﬂg mo‘io (SDohes
The correct sequence is :
58 SO (Fo:
(1) 1V, L, II, (b«!/IV, 1L, 11, I
3 II, I, IV, III (4) I, III, II, IV
Rough Work
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23. Which of the following taxa shows zooidogamous oogamy ?
(I)  Spirogyra (II) Funaria
(IIT)  Pteris (IV) Cyeas
& (808 |Serdod® Bron@ i ¢*A8 Bobd wod Jod@rmNo JI6° @onod ?
I ?3;8‘5_::» (I sHgSoase :
(I 88 (IV) 288
The correct answer is :
a8 S0AhS warw:
a) 1, I I (2) I, III, IV
@ LI, 1V W I, I, 1V
24. Study the following lists :
List I List I

(A)  Coleorhiza (I) Development of sporophyte directly from
gametophyte without intervention of gametes

(B) Apogamy (I) Development of gametophyte directly from
sporophyte without the involvement of reduction
division .

(C) Indusium (ITI) An. unbranched columnar stem with a crown of
leaves

(D) Caudex (IV) Protective covering of radicle

(V)  Protective structure of a sorus
S (808 srderold oFgahdso Dabod
wdev | wede 11
(A) SwreroXd Hoo (I) Sodrd dere SFSS E%oae Sod@ri Deo
Hod dgbedo Jwrr ARG
(B) Sod@rr Daocedrdgo () FHubstm Des S%oae bEbeto Hod It
So@rsBato d&yWHe °

(C) godmghaho (III) eFgemrs 8Bwo I8 @od Seron DA
_ wge Gied Sl modo
D) S IV) 1385 srosnd es60d awod SY8 8%

| (V) &8 Decyabsns® ofe $ODod doywmo
The correct match is :
g0 OGS S°Go:

A B C D

M v . I I

o IV I % I

@ MV I v

@ U I v
Rough Work
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Study the following lists :
List I List II
(A) Pasteurella pestis () Angular leaf spot of cotton
(B) Treponema pallidium - (II)  Amphoterican
(C) Mycobacterium bouvis (ITI) Actinomycosis of cattle
(D)  Streptomyces nodosus (IV) Syphilis
: (V) Plague
Bod wrlerod oFzofido WdHod :
. @eDae I Do 11
(A) SHoer DD I 88 §°dat sHHd Shw
(B) L'EJ@*;On‘iW &06:5 (D) eoF*BoS
(C) wé’em‘:ﬂﬂoﬁo 5705 () sHHe 8D
® 3 @va; & %G5G av) »3e§
V) gf‘b

The correct match is :
88 S66LS 5°80:

A B C D
1 v I 11 II1
(2) 1II II1 v v

Vv IV Inmr - 11
(4) III 11 il AY

5

Identify the correct pair of events when temperate phages infect bacteria :

(I) No prophages are formed

(IT) Bacterial cell undergoes many divisions

(ITI) Bacterial cell undergoes immediate lysis

(IV) Prophages are formed

BoSdfPrde r38akred SoFSHodFHE wdA ok Bopudod K8oNod:
O @Drde S5yds

(ID) 2r8600& - fwo wIEFE JFed BoKHEod

I =3006& Swmo Foed Do ToHEod

(IV) bvage» ad;,desbon

The correct pair is :

58 J0@DS ed:

1) LT @ mm @ mIv @ I

Rough Work
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The osmotic potential and pressure potential of three cells (A, B, C) located in
different parts of an actively transpiring plant are given below :
Cell Osmotic Potential Pressure Potential
(MPa) (MPa)

A -0.87 0.44

B -0.92 0.34

C -0.68 0.27
Idenhfy these three cells as root hair, root cortical and leaf mesophyll cells
respectively.

DO edd i sHPHSTowd) af K6 DY grred® ady S
S’Wt: (A, B, O) ssarfsow ¥530 Hban SES ¥50 dendsen Bo& Headwd S
Koo B0 530 bES ¥530

(MPa) (MPa)
A -0.87 0.44
B -0.92 0.34
C -0.68 0.27
B Hrd Sorodh JHSmr Sredds, JoSope HOdh HFSn BE) Seeosd
Sweenre 0 osaso: _
The correct answer is :

AM 2009 A

80 S0DS sarew:
1) ABC @ ACB & CAB @4 BCA

Read the following table :

(h DCMU Herbicide Inhibitor of Non-cyclic electron transport
(I) PMA Fungicide Reduce transpiration

(IIT)  Colchicine Alkaloid Causes male sterility

(IV)  Soilrite Sodium alginate Encapsulation of somatic embryos

Bod I85H wggabo DoHod :

@ DEMU S o¥wd odfad domd darar DE°Ho

(I PMA 3808 cr¥EHardo e Bgso e’nm 08

(II) =dS  seoyorand HHB 6063650 ¥DoXH

(IV) Fondgd RP8o%o 6dIS ehad boaro & SSwro DG HOK
Identify the “correct pair of answers :

S0 marwmwe eddH $0odod:

@ Lo (@ I, 1 @ LI @ I,V

Rough Work

138



http:/fishigdeal.blogspot.com/ AM 2009 A

[~ =
29. The number of stomata and epidermal cellsin 1 mm? leaf area of lower epidermis
of the leaves of X, Y and Z plants are given below. Arrange the plants in decreasing
order of their stomatal Index : ' _
XY 500 Z Sn830 $(@ro ©8%arsrg SHEnE” ol SE65H 0.2, Srogand®
o S|¥ Sogre HBoks we¥ry ¥ ¥wro Sopg Sof awdle. ©I6°Sey
EHS0E® S| EGo(E rAED v Fo IO ebod
Plant Number of Stomata  Number of Epidermal Cells

Sy S Yore Somg weiieg S8y Fwro Sopg
X 30 150
Y 60 240

Z 90 . : ) 400
The correct answer is : -
gd S8 Sdregedo:

3y X ¥4 (ﬂ/ Nty A
3 Z Y X 4 Y, X 2
30. Study the following listz :
List 1 List 11
(A) Photolysis of water (I) Zinc
(B) Diazotrophy (IT) Copper
(C) Cytochrome ‘C’ oxidase (I1I) Manganese
(D)  Biosynthesis of IAA (IV) Molybdenum
(V) = Boron
& (808 erDered eEgahio Jdbod :
grler 1 : wde 1
(A) D8 =08 JZEH () @k
(B) geﬁ*‘@:‘&: (I w56
(C) RE°E’H C ubyds - (D) Swond8
D) 1AA &5 Soddew (IV) &re0BS&
V) &5

The correct match is :
ad 5663_.7'5 &°80%:

A B C D

(1) , I I1 I Vv

111 v 11 1

@) VvV IT 111 IV

4 1V T 111 I1
Rough Work
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81. Assume that an actively respiring cell has 3x number of K in its cytoplasm
and 2¢x number of K* outside. After some time, ¥ number of K' entered into
the cell. What is the process by which K" transport has taken place ?

(1)  Primary active transport Secondary active transport

(3)  Diffusion (4) Passive transport

HHHE we S B 2oy FmosR 3’3@@5306‘ 3x Sopgs® K wodor
pahé 2x 60&:36‘5 K" ex am&o&:&?od 570 WI88 x Somwg K" e Swod®8
|S3%owron. @ dgrdo @ERT K* avese 20R0B?

(1) @5y SBate Garwe ( Gabohy N8 Caror

(8) A&Ge (4) Qg oe Sapee

32. Four respiratory enzymes are given below. Arrange them in increasing order

of the carbon number of the substrates on which they act :

(I)  Enolase (IT) Aconitase

(IIT) Fumerase (IV) Alcohol dehydrogenase
Feoth e falr JSEDe gMEASD. ©d ST oFS dovore Gwy
§6yS Somg wEElorr ©&°He FHos® ©580s :

I as"8s (I) »8°0&&

(D) $Hyds (V) soyed & To&*edE
The correct order is :

88 S6@S Ebo: |

1y 1L Iv, I, I @y IV, I, 11, I

@ I, IV, I, I 6 1V, 1, 100, 11

33. The ratio between 2-carbon and 3-carbon m!;ennedmtes having -NH,, group formed
in photosynthetic oxidation cycle is :

85 @Sy Sodrer $ab SO 53 shiEtn Seapos® Suyd -NH, Ssncasorie
286y, 3-66)8 SnapdE Sove DB
1 1:1 R 2:1 @  3:2 4 3:4
34. Which of the following respiratory substrate requires the highest number of O,
molecules for its complete oxidation :
(1)  Tripalmitin ¥~ Triolein
(3) Tartaric acid (4) Oleic acid -
G 808 eeqS8an 9(5.5 aﬁmave,é" 32 drd shstnkh «8388 0y sewdhen
©SSYo !
1) B>nas W warns
@3) e eso 4) £8F esho
Rough Work
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35. What is the amino acid sequence encoded by the base sequence : UCA UUU
UCC GGG AGU of a m-RNA segment :
(1) Methionine — Phenylalanine — Serine — Glycine — Serine
(2)  Glycine — Serine — Phenylalanine — Serine — Glycine
Serine — Phenylalanine — Serine — Glycine — Serine
(4) Serine — Phenylalanine — Glycine — Serine — Glycine
g g8 UCA UUU UCC GGG AGU retio m-RNA pold&o $d8orr 283 @3&5‘
slre (H&o @
(1) DHIRIS — HPE ©odT — ROS — TS — 8
2 8RS — RS — 6 ©0dS — DOS — aRd
MGS— 236 wodd — R8s — ﬁd‘g — 08
@) D65 — 33 ©odd — 3RS — 208 — [k

36. Identify two physiological processes induced by two different phytohormones
having a common precurser which is formed due to the catalytic activity of pyruvic
dehydrogenase complex :

(I) More female flowers in cucumber

(I) o-amylase production in barley grain

(ITI) Acceleration of fruit ripening in tomato

(IV) Delay in sprouting of potato tubers

2608 & 8838 SoBdio a3uEs Sp ORNAS Scrdo aad Geggorduee
o To% B &Sy S6° 0o (Lnde =200 Tokh PBar&y dororosH
80508 :

@M &°%6° Tranmr § e GG

(I1) a‘PQ DE o™ u-@a?a_é?z{ Soxred

II) E°8r&%E° JosHEs InTSTHe

(IV) worr#Hoss® IvefBhHidkeH solg She

The correct combination is :

ad 56620_;5 H¥Doy:

1 LI @ I, 11 W I, v @ I, IV

Rough Work

16 S



http:/ishigdeal.blogspot.com/

AM 2009 A
L5\
37. Study the following lists :
List I List II
(A) Usage of bisexual flowers as (I)  Clonal selection
female parents
(B) Incorporation of several desirable  (TI) Pure line selection

characters into a single variety :
(C) Exploiting hybrid vigour for many (III) Emasculation
generations
(D) Improving local varieties of self (IV) Hybridization
pollinated crop
(V}  Polyploidy breeding
o (808 wrDeroih edgudso Dabod :

weber 1 e dev 11
(A)  &g00ff Hires Jester () 8°38 &two
& SAreHothe
(B) 3§ srofdoh ofwroid &8 () ®8 So¥gsd Sowma’

5806° (ST Dee
(C) sofsderdy ov8 Sve 6% | (D Dspodstumo

A S@BrRoHE" He
D) Fdcvore wod esoed oddy (IV) Sosdmo

SRegty BBHBHIES

(V) wawuds Ssddo

The correct match is : :
g8 J0as £°8:

A B C D
1n 1V A 111 I
(2 1I I11 IV Vv

ITI v I 11
4) I A% I1 v

38. Identify the palindromic sequence in the following :
S 1806 &rRE° FOSGNE SEBESHOKH B oSS

o GAATTC @ GAATTC
: GAATTC CTTUUG
@) GAATTC GAATTC
- CUUAAG CTTAAG
Rough Work |
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The characteristics of a molecular probe are :

(I)  Very long molecule

(II)  Double stranded

(IT1) DNA or RNA

(IV) Complementary to a part of desired gene

o s (B Do) oferen :

(I)  weer 53‘533:‘6 ®cRa)

(I) &zo& 55“15 oaa

(I1I) DNA e RNA

(IV) =880 Bged werrRd SofrdSore daosd

The correct pair is :

80 J0DI =&:

(e L 1 (2) 11, III
CII0L IV _ 4 1V, 1

AM 2009 A

Assertion (A) : Somoclonal variations may be present in plants produced from
callus.

Reason (R) : Somoclonal variations are caused due to recombination during
meiosis.

The correct answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

37" (A) is true, but (R) is false

(4) (A) is false, but (R) is true

dhdo (A)  : ol Hod a&HB Fob3 IJvHes® FSrE*ss IDerge
= Tl e

s¥ewo (R) ! DErlRE® 28n H¥iSodrassne Sol ﬁ:@ms}s& 3Qgrgen
Heniweran

g0 SO0CLS marw:

(1) (A) 8an (R) Todr S80S, 8 (A) % (R) S8aHS DS

(2) (A) $6a5n (R) Bodire ﬁ&ﬁocﬁﬁ] == (A) % (R) 58630&5 RSPee T

‘3?/ (A) 38aps8, =0 (R) w&d&:&& ot t)

4) (A :666‘3:_(5& o == (R) B0

Rough Work
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